Scenario 1

SCORE BOOKS DO NOT AGREE

T20 Grade cricket match.

As the umpires are leaving the field at the completion of the 15t innings, they
are informed that the scorebook totals are 20 runs apart.

The scorers don’t know what to do.

Describe in detail how you would manage this situation.

What method is used to reach agreement on the total?

BALANCING THE SCOREBOOK

Cross reference everything in both books.

Runs scored by all batsmen + byes + leg byes + wides + no balls = total
Runs against all bowlers + byes + leg byes = total

Ensure the overs against the individual bowlers equals the total bowled.

Check that all wides & no-balls against each bowler equals the total number
recorded in the sundries column.

Ask the scorers at what over did the books last add up correctly?



